
avenlur
Walnut by Avenlur

Need Help?
CALL US AT 888.697.3931 / M-F 9AM - 5PM PT (12PM - -8PM ET)

OR EMAIL US AT INFO@AVENLUR.COM
V3-79





01

M6.3x40 
A x66

M4x40 
H x16

M10x35 
I x16

M6x80
J x12

M4
K x2

M10
L x1

M10M8
M x2 N x1

1 x1  23.3in

M6x120         M6x20
B x24

          M8x100
C x4

M8
D x8

M8
E x8

M10x40
F x8 G x8

2 x6  24.4in 3 x10  26.5in

4 x4  25.4in 6 x2  25.4in 

8 x1  39.4in  

10 x1  39.4in  

7 x1  39.4in 

9 x1  39.4in  

11 x1  37.4in 5 x1  37.4in

12 x1  39.4in 13 x1  39.4in  

14 x1  39.4in  15 x1  39.4in  

16 x12  2in 17 x6  29.1in 18 x2  45.3in 

19 x1  45.2in 

20 x1 

21 x1 

22 x2 x2  51.2in x2  189in x1  322.8in 29 x8 30 x1  23.3in26 27 28







03-1

2

D 8
M8 F 8

M10x40 

C 4M8x100 E 8
M8 M 2

M8

7 8

9 10

12 14

13 15

7

9

12

13

7

9

12

13

8

10

14

15

8

10

14

15

C

F

F

D D

E

M

E

Note: Insert parts    and    into the holes. Then attach part    through    .
Lastly, screw    onto    

C F D C

E C





05-1

4
A 16

M6.3x40 

A

14
A

12
13

15

6

6

4

4

A
A

A
A

A
A

A
A

A
A

A

A
A

A

Note: The direction of the holes 
should be same as shown

Note: The direction of the holes 
should be same as shown

05-2



06-1

5

27

27



07-1

6

Note: Pay attention to all the black section markers. The manual may refer back to 
those later.
Wrap the vertical rope once around each pass of the horizontal rope

28





09-1

09-2

8

B

B 24M6x120 M6x20

B

B
B

B
BB

B
B
B

B
B

B
B

B
BB

B

B
B

B
B

B
B

17

17

17
17

17

17

16
16

16
16

16161616

16
16

16
16





11-1

11-2

10

J 12M6x80

J J

J J

J J
J J

J J

J J

Note: Use a studfinder and
mark the wall where the center
of the studs are. Studs are 
typically 16" apart. Measure the
distance between your studs to
confirm,
Mark, level, and predrill holes 
in the wall to attach parts    with
screws J

17







25.6in 77.1in

78.8in

65.3in


